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+130. 0O

N Q.

KA.12 -

N CB.

N CB.
+100 O

KE.12 -

N Gt
+300

KE.22 -

N Cb.

N Cb.
+500

KA.22 -

N O

12

13

13

10

16

18

. 96

.00

.23

.00

.97

.12

04
04

04

05

08

07

06

03

04

13

07

03

00

02

00

R

. 56

.57

. 56

.53

. 58

.00

.05

.51

.01

.01

29

51

59

46

1 00.

43

45

27

4 4

1 42

14

08

17

18

N 1.

B G.

N GB.

S P3.

N O.

E G

NOO1

NOO1
+807

NO1l1

KA.14 -

NO21

13

10

11

11

17

.91

.48

.25

00

00

IS

03

N

03

(e}

03

05

QO

05

.03

.21

2400

O

(o)

07

37

=

4 3

@

00

D 0

.00

.51

.03

.03

.05

. 06

.02

.00

.51

00

20

28

32

46

42

52

2 49.

1 13.

3 69.

159







20
10

RCO 4 22

1

1 300A, 18
3 300 o

3 300A, o
G380 12

3 0x09 0 30

1

5 0x05 0X06 0 2
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U A NO. 3819.0 NO. 48 0.8 20
(130DA NO. 48 4.4 NO. 5814.0 337
NO. 7016.6 NO. 98 1.7 274

NO. 98 5.4 NO. 1186 9.3 452

108

U B NO. 40 0.8 NO. 4@ 4.4 40
(330DA NO. 98 1.7 NO. 98 5.4 40
80

U C NO. 10 6.8 NO. 68 5.0 956
(33004, ) NO.118 5.5 NO.11617. 3 118
NO.10818. 0 ) 1 26,

120

NO. 5814.0 NO. 686 5.4 115

(G3DPOA 115,
NO. 660 6.2 NO. 7815. 8 304

3 04.




10. 0m
1 300A
500
100 300 100 (1 , B300, L=500)
405 |55 55]5|40 1 /10m
(T-2, B300, L=500)
8] ,
—ﬁﬁ -ﬁ\u
5 g (1, 300A L=2000)
\
SIS
1I 360 IOC
560
U L=2000, W=3438
(130DA N10:0.00 5.00 50
W=33kg/
(1,B300,)L=N50Q0. 0-+00..850) 19.000 1 90.
W=17kgl// 10
(T-2,B30)0,Ne=500 1.00 10
(1) 3 V=0 . 3x600. 0x31000. 0.80 ° 0.11
( RC- 40,)t =Ax 0 ¢ Bx61000. 5.60 ° 5 .06
A=0 . 5x61000. 5.60 ° 5 .06




10.0m
3 300A
520
(3, B300, L=500) 110 300 119
i“’&i{ 50
3] I U (3, 300A L=2000)
\ \
g
\
&
J L (RG 40)
10d. 360 fi0g
560
U L=2000, W=419
(330DA N10=0.00 5.00 50
W=45kg/
(3,B300,L=ND0=0.05 20.000 2 00.
(1) 3 V=0 . 3x600. 0x31000. 0.80 ° 0.11
( RC- 40,)t =Ax 0 ¢ B61000. 5.60 ° 5 .06

A=0 . 5x61000. 5.60 °2 5 .06




10. Om
3 300A
(3 ,B300, L=500) 520
110 300 119
1 /10m
(T-25, B300, L=500) &5F§ﬁ,&
8 U (33004 L=2000)
N\
RG 40
T 3m T
560
U L=2000, W=4109
(330DA ,
NE10=+2@.00 5.00 50
W=45k,qg/
(3,B300,)L=500
Ne( 10. 0-+00..650) 19.000 1 90.
W=18kgl// 10
(T-25,B3DONL=500 1.00 10
(1) 3 V=0 . 3x600. 0x31000. 0.80 ° 0.11
( RC- 40,)t =Ax 0 ¢ Bx61000. 5.60 ° 5 .06
A=0 . 5x61000. 5.60 °2 5 .06
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300 _ 110

(T-25)

)
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100_ 20

520
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620

50

720

8 P (G308
A (L=1000)
A
8 (1:3)
Q —
B (18-8 2589
=
YY) &l (RG40)
5
50

W=388kd# 25

(G300A,)L=NeD0H0Q.00 10.000 1 00.
(1) 3 V=0 . 5x200. 0x21000. 0.420 0.01
(18-8) 25%B. 6x200. 1x01000. 0.62 0.26
A=0 . 1x028 1 00. 2.00 2 .00

(RC-40,)t =Ax 0 c ™21000. 7.00 7 .02
A=0 . 7x21000. 7.00 7 .02
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— ( , B300, L=500) 75 Ve
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m\ SR ‘
g
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S
8 | ~ g
(16-8 2568
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38000 N10+02.00 5.00 50
L=2000, W=221kg/
(38000 N=10=+0.00 5.00 50
W=30kg/
,B300,)L=bd0. 00- 1. 9.00 90
W=19kgl// 10
(T-2,B30)0,NE=500 1.00 10
4/ 1
M 1x250 N=4x 5 20.000 2 00.
(18-8) 25%B. 0x500. 3x01000. 0.5 °3 0.51
(RC) 40 W=0. 6x000. 3x01000. 1.80 3 1.08




(2 10. 0m

(18-8) 25%RB. 1x500. 1x01000. 1.a05 ° 1.51
A=0 . 1x028 1 00. 2.00 ° 2.00
(RC-40,)t =A D c 2»51000. 12.050 ° 120

A=1 . 2x51000. 12.050 ° 120




A NO. 66 5.8 10
(5860060 NO. 7016. 2 10
20

D NO.10618. 0 10

(588 0x07 0 10
E NO. 118 9.7 10

( 58 6 0x08 0)
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10.
@ @ @
8 8 [E— - | 8] 8] I -
§§§§ {; ;kg K EI =
mg (300x 300) mg %
o]
CYPFE e oo
J = —
ﬁg (300><3(D)‘ @ LM
(18-8) V0. 8x000. 8x000. 7x51000 4.8
V20 . 6x300. 6x300. 0x51600. -0.222
V 30 . 5x000. 5x000. 5x41400. -1.036
V 40 . 3x000. 3x000. 1x528 1 00. -0.027
sV 2.084 °3 2 .59
A£0 . 8x000. 7x548 1 00. 24.000
A20 . 5x000. 6x944 1 Q0. 13.088
A30. 3x048 0 . 1x528 1 Q0. 3.80
A %0 . 3x000. 3x028 2x 1 00. -3.060
SA 37.088 ° 378
( RC- 40,)t =A& G c @000. 9x01000. 8. 00 °2 8 .01
T-25, W=65. 0kg/
(58600) Ne 10.000 10
A=0 . 9x000. 9x01000. 8. 00 °2 8 .01
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g 8 8
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(33004 TJ\ﬁ
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@ 4414 F a
¢ 5 on LLJM
-]
(18-8) V0. 8x000. 8x000. 8x51000 5.0
V20 . 6x300. 6x300. 0x51600. -0.222
V 30 . 5x000. 5x000. 6x41400. -1.061
V 40 . 3x000. 3x000. 1x538 1 00. -0.540
sV 3.30 ° 3.02
A£0 . 8x000. 8x548 1 00. 27.020
A20 . 5x000. 7x944 1 Q0. 15.088
A30. 3x048 0 . 1x538 1 00. 5.80
A %0 . 3x000. 3x028 3x 1 00. -5.040
SA 43.008 ° 438
( RC- 40,)t =A& G c @000. 9x01000. 8. 00 °2 8 .01
T-25, W=65. 0kg/
(58600) Ne 10.000 10
A=0 . 9x000. 9x01000. 8. 00 °2 8 .01
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S§g§{71 5 S§§§ %)74\ 4\(%§]
E i { |M
h u 1 3008 i N\ (RG40) : Mi ‘ N\ (RG40)
o
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Qg d @
)
u (13004 :lx_,-—m@
— M
(18-8) V0. 8x000. 8x000. 9x51000 6.0
V20 . 6x205. 6x205. 0x31800. -0.814
V 30 . 5x000. 5x000. 7x61200. -1.50
V 40 . 3x000. 3x000. 1x51000. -0.513
V5m/ 40. 8240 . 1x528 1 00. -0.011
sV 3.28 3 3.87
A0 . 8x000. 9x548 1 00. 30.040
A20 . 5x000. 9x142 1 00. 18.024
A30. 3x048 0 . 1x51000. 1.80
A#0 . 3x000. 3x028 1 00. -1.080
AST/ 40 . 8% 2x 2x 1 00. -1.646
SA  47.417 °? 477
( RC- 40,)t =A G c @000. 9x01000. 8. 00 °2 8 .01
T-2,, W=34.3g/
(58600) Ne 10.000 10
A=0 . 9x000. 9x01000. 8. 00 °2 8 .01
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Vi
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0.83ni 1n®
0.05n 1n®
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0.55n% 1n®
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9 06.
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.01
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(2

3.
3-1
3-2
3-3
3-4
3-5
3-6

\=
t = fc
Vil, 5080 760
t = Bhec
V25 3 .x702.50
t =#hec
V 86 3 .x902. 40
t = fec
va7 . 88.30
>V
Vivi4
\=
V5V6
=
\=

( Gr -)C- 4%& 160. k g
W23 x@66. Onk g/
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01

NO. 6610. 6 NO. 70+11. 2 09.
NO. 10618. 0 NO. 1186 0.5 27
2 36.
NO. 3614.09 NO. 3618.5 40
40
NO. 16 6. 8 NO. 26 3.0 162
1 62.
NO. 26 3.0 NO. 66 5.0 793
NO. 6613.7 NO. 76 5.0 113
9 06.
NO. 10618. 0 10
10
NO. 10618. 0 1 04
1 04
NO. 1186 6.0 NO. 11616. 0 100
1 00.




)2

NO. O 91 fhc
NO. 1618. 9 NO. 3611.1 325 mc
NO. 3611.1 20 Bhc
NO. 58615. 7 NO. 66 5.0 100 fhc
NO. 11617. 4 66 fhc

6 02.
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(t=1)0cm (t=1)0cm
N(:8 2 2
9. 67 990 0 .00 0 .00
S 3. 0 .00
10.482 0.04 4 .33
N . 0 .08
11.250 1.00 110
EG 1.02
s. 89 1.00 8 .05
NOO 1 0 .08
Moo 1 s. 50 0 .58 7 .04
807 0.09
11.030 0.07 7 .19
NO11 0.05
2. 81 0 .52 0.07
KA 14 - 0 .00
17.218 0 .00 0 .00
NO2 1 0 .00
8 0. 404




(t=bcm (t=pcm

N QD ’ N Q7 ’

7. 31 >0 4.04 3271 6. 85 03 6.52 4228
ECL 3 .07 B G .02

12.9%68 3.09 49094 13.914 6.00 78098
N QL. 4.01 N GB. .08
NG 13.000 4.00 5303 9. 67 5.0/ 5203
N 4.01 S P3. .06 |

7. 00 4.50 2853 10.482 5.0/ 6107
N 2. 4 .00 N . .08

13.232 3.59 5226 11.250 555 6348
KA .12 - 3 .09 EG. .03

6. 87 4.05 3050 8. 809 5.00 42094
N CB. 5 .01 NOO 1 .07

N N i~y

NG 10.0043ﬁ 5.06 5500 T 8. 00 N 4.0 4236
+100. 0 : +807 :

7. 82 5.06 4308 11.030 6.00 7779
KE .12 - 5 .03 NO1 1 .07

5.87 751 3720 2. 81 8.56 2483
T:?Loo 9 .00 KA.14 - .06

14.920 9.08 13095 2 14.258 7.06 1102 8
KE.22 - 1006 E'?“;014 .06

2.19 1054 2971 '
N Gb. 1003

5.00 9.58 4952
N Gb. o w
+500 :

16.970 9.56 1614 2
KA.22 - 9 .09

18.129 8.00 1486 1
NG 6.03 237040 1. 5016 .




(t=5cm (t=»cm
N CB. g
N O.
;:IiBlO- 1 o 1.08 1 .08 o2 6. 85 00 0.51 1.30
+140. 9 1.08 5 e ®
13.914 0 .04 5 .62
N GB. .05
9. 67 0.06 5.15
S P3. .07
10.482 0.08 8 .66
N Q. .09
11.250 0 .58 9 .87
E G. .08
8.89 0.08 6 .08
NOO 1 .08
NOO 1 8. 00 0.07 6 .90
+807 06
11.030 0.03 3.93
NO11 .00
84.000 532




(t=%cm (t=Xcm
2 2

N @. 0 .00

7.%1 - 0.04 2.29
E CL 0 .08

12.9%8 0 .08 105
N Q. 0 .08

13.000 0 .08 100
N AL
+130. 0 0.08

7.00 1.50 7 .53
N Q. 1.03

13.232 1.54 192
KA.12 - 1.06

6.87 1.51 7 .86
N GB. 0.07

10.000 0 .53 3 .05
N CB.
+100 O 0.00

7.82 0.02 1.65
KE.12 - 0.04

7z
N OL. 5. 8 0 o 0.02 1.40
+300 '
8 3. 632




(t=3cm (t=3cm

N CB.
+ 1 40.

0.9 .QAJ 1.08 .62
KE.12 - 1.08

7z

N GB. . 8 L o 1.08 .21
+190. O '







( M- 30)t,=fc

58

(M-30) mt #

(RC-40)mt

29

(M-30) mt #

10

As

, B
(13),m=5c
As 2 30
(13),m=3c
i~ 2 10

(13) ,m =5




¥

~+
1

Az

AZ
A2

( M- 30)t =fc

ZA

50 .+6538 58. 6 0.
(M-30)mt =10c
(RC-40)mt=10c
(M-30)mt =15c¢c

(13) m=5¢c
(13) m=3c
(13) m=5c¢c

1, 3128|.

619

1, 3719|.

29 35

992

1, 3130
619
1, 372

3 0 04

992

Q)

58853

1,33

2989

9 98.

300

9 98.




[ NO. 11

A=61. 19n?

AA 6191°




[ NO. 4

.. A2=28. 30n?

[ NO. 6

v
\

A3=54. 20n2




[ NO. 9 ]

SA-8.00+28.30254. 20 +%99 238 2
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